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R1 [I5MC, 20,1 mm, go 500 Owm 1 { INoxroncuyue
R2 CI13-9a-20-3,3 xOn == 20 % 1 | [Tepemennetii
R3 MAT-0,5 = 10 %, 1o 2 xOu 1 —
R4 MJT-0,5-30 ¥Om = 5 9 i —
R5 MJIT-0,5 =10 %, no 8,2 xOm 1 | Hoxrouocunsri
Rb6 KMT-8-2,2 xOm 1 | TepmopesucTop
R7 MJIT-0,5-10 xOm == 5 9 1 —_
R& MJIT-0,5 = 10 %, no 2 kOw I | Hoaroxouss i
R9 MJT-0,5 == 10 %, no 82 xOwm 1 »
R10 KMT-8-3,9 xOwm 1 | Tepmopes#crop
R MJIT-0,5-20 ¥Om =5 % | —
RI2 MJIT-0,6 %= 10 %, mo 20 xOwm | | NNogrorounsrii
R13 MJAT-0,5-3 sOm = 5 % [ —
Ri4 N=MC, 20,1 My, 267 = 1 Om | —
R15 MJIT-0,5-910 Om =5 % i —

MJIT-0,5-620 Om =5 % l 1 —
R16 MJIT-0,5-4,7 xOm = 5 % | —

{mﬂT-n,a-az,a KOM = 5 % i —
RI7 MuaMup-3-12-0,096 == 0,0005 Om i | Olyur
Ri8 MuMu-3-12-0,384 = 0,002 Om 1 »
RI19 InNamc, 0,5 v, 1,92 = 0,01 1 »
R20) I>MC, 20,3 mu, 7,2 == 0,036 Ou| | —
R21 I>MC, 20,4 vmm, 2,4 = 0,012 Om| 1 -
R22 IN>mC, 20,2 my, 12 = 0,06 Omy | -
R23 [M2MC, @0,2 nmm, 24 = 0,012 Om| | —
Ra24 amc, 0,2 mm, 48 = 0,24 Om| 1 —
R25 [IOMC, 20,1 mn, 144 = 0,72 0m | 1 —
R26 | [IBMC, 0,1 mm, 240 = 1,2 Om| 1 | —
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[ II3MC, 20,1 wmmM, 720 = 36 Owm|

IMC, 20,06 mv, 1200 2= 6 Om
IM>MC, 20,5 um, 2400 = 12 Om
MJIT-0,5-620 Om =5 %
MJIT-0,5-24 gOm == 5 %

MJT-0,5-30 xOu = 5 %
MJAT-0,5-20 kOm = 5 %
MJAT-0,5-51 xOm = 5 %
MJAT-0,5-51 xOm 5 9%
MJIT-0,5-150 xOwm 5%

MJAT-0,6-200 «WOm = 5 %
MJT-0,5-300 kO = 5 %
MJIT-0,5-b10 ¥Om = & %

I+ i+

MJIT-0,5-1,5 MOm = 10 %

MJIT-0,5-2 MOnm = 5%
{MHT-0,5-3 MO =5 %
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Cymma

48,3 + 0,25 xOm
Cymna

50 + 0,25 xOm
Cymma

100 &= 0,5 kOwm
Cymma

300 4= 1,5 xOwm
Cymma

500 + 2,5 xOm
Cymma

1 + 0,005 MOm
Cymma

3+ 0,015 MOwu
Cymuma
5-1-0,26 MOwm -
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RS9 MJT-0,5-5,1 MOw =5 % 2 | Cynma
10 &+ 0,05 MOm
R40 MAT-0,5-200 O =5 Y "1 | Cymua
MAT-0,5-130 Om = 10 % - b1 ] 330 = 1,7 Om
R41 MJAT-0,5-4,3 xOm £ 5 9 1 { Cymma
MJ/T-0,54,7 kO = 5 % - I 9Mi45‘ﬂm
R42 {MﬂT-ﬂ,E-Iﬁ ¥Om == 10 Y% | | Cymma -
: MNT-0,5-1,6 xOm == 10 % 112990 + 15 Om
R43 {_MJTT-EI,E-IE ¥0m = 10 9 1 { Cymma ~
MJIT-0,5-18 xOm = 10 9 F} 33,54 0,17 xOw
R44 MNT-0,5-160 xOm =5 Y 2 | Cymuna
321 £ 1,6 wOm
R45 MJIT-0,5 == 10 %, 5o 82 xOm 1 | Flogronouneri
C1 Konpgescatop K50-6-1-15B-10 mx®d | ! | Henonsphuiil
Vi—V7 ) Owon repmanuecwit J19]1 7 —
VE, Vo Huon kpemunepnin KJIH21T 2 —
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